VOLTERRA SUPER CUP

FINALE
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P |ABBIATI 6 65 || 1| P [ABBIATI 6 6,5
D |CHIELLINI 6 6 3| D [cHIELLINI 6 6
D |LUCARELLI 55 55 || 5| D [MORETTI 55 5
D |LICHTSTEINER 6 6 6 | D [HEURTAUX 6 6
D |ANTONELLI 7 7 8 | b [PALOMBO n.e.
C [VIDAL 6,5 6 10| C |ASAMOAH 7 6,5
C [CANDREVA 5 5 14| C |GONZALEZ A. 6 6
C [GONZALEZ A. 6 6 17| C |[VALERO 45 45
C [cossu 6 6 18| C |VIDAL 6,5 6
A |TOTTI 6 6 20| A |PALOSCHI 75 = = 13
A |TEVEZ 8 =2 %% 135 || 23| A [HIGUAIN * SV.
P |AMELIA 12| P |AMELIA
D |CANA 7 | o [NALDO n.e.
D |HEURTAUX 4 | D [GAMBERINI n.e.
C |DE ROSSI 13| D |cossu 5 5
C [AQUILANI 11| c |BIABIANY
A [clovinco 21| A [TEVEZ 8 et 135
A [QUAGLIARELLA 24| A |zAPATAD.
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